D - Summary Contestant Code

\ Answersheet

8“'l » -l e FRONT Q. No. T01 Page No. SA-1
l Final answers l
Marks (5.0)
(To1.1) | n=
Marks (5.0)
(To1.2) | f=
Total:

End of Summary Answersheet
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Summary

d - Contestant Code —
‘ Answersheet
8’rh » e FRONT Q. No. T02 Page No. SA-3
l Final answers l
Marks (3.0)
(T02.1) Yo =
Marks (3.0)
(T02.2) | Denter =
tenter -
(T02.3) Marks (4.0)
Year | 14 Jan | 15 Jan | 16 Jan Year | 14 Jan | 15 Jan | 16 Jan
2006 2010
2007 2011
2008 2012
2009 2013
Total:

End of Summary Answersheet




2 z Summary
fh “ % Answersheet
18" § -

MUMBALI, INDIA - 2025

Contestant Code

Q. No. TO02 Page No.

SA-4

<&
&

3\

Q§Q
O




-] - Summary Contestant Code

‘ Answersheet

8th » e FRONT Q. No. TO03 Page No. SA-5
l Final answers l
Marks (5.0)
(T03.1) Wini =
Value of wiy; =
Marks (4.0)
(T032) | a=
ﬁ =
) =
Marks (6.0)

(T033) tmerge =

Value of tmerge =

Total:

End of Summary Answersheet
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: Summary

D Contestant Code —
‘ Answersheet
8th » e . FRONT Q. No. T04 Page No. SA-7
l Final answers l
Marks (3.0)
(To4.1) k(Ha) =
k(HB) =
(TO4 2) E(H,@ _ Ha) B Marks (4.0)
) E(B — V)
Marks (6.0)
(T04.3) | Ao =
Apg =
Marks (2.0)
(T04.4) | Ay =
myo =
Total:

End of Summary Answersheet
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Summary

9 - Contestant Code —
‘ Answersheet
8"} - FRONT Q. No.| T05 | Page No. SA-9
l Final answers
Marks (5.0)
(T05.1)
Date of ®blob I (Iy) 3
observation (milliarcsecond) blob 1Y app
To X
To + 605d
To +1186d
To +1786d
Ty + 2338d
B =
Marks (2.0)
(T05.2a) | Dlaee _
At
Marks (2.0)
(T05.2b) | Bapp =




Summary

d - Contestant Code —
| ‘ Answersheet
8th » e . BACK Q. No. T05 Page No. SA-10
l Final answers l
1.00 Marks (4.0)
(T05.3a)
0.95
0.90
0.85
0.80
Q. 0.75
0.70
0.65
0.60
0.55
0.50 ; ; ; ; ;
0° 15° 30° 45° 60° 75° 90°
0
Marks (2.0)
(T05.3b) Blow = Olow =
Marks (2.0)
(T05.4) Omax =
Marks (3.0)
(TO55) ]\407 max — M@
Total:

End of Summary Answersheet
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> - Contestant Code _
‘ Answersheet
8+h . — MUMBAI, INDIA - 2025 FRONT Q. NO. T06 Page NO' SA-]—]—
l Final answers l
(T06.1) (+ve) Vi L] L] T T | Marks (5.0)
T :
E 0 B I |
Ny B ]
(-ve) Vi I | o R
0 10 15
D (in kpc)
Marks (3.0)
(To6.2) | P= Myt
av Marks (2.0)
T06.32) | () == _
( ) dR R=Ro
av
(I1) “— -
dR R=Ro




Summary

D - Contestant Code —
‘ Answersheet
8”1 » e BACK Q. No. TO06 Page No. SA-12
l Final answers l
Marks (8.0)
(T06.3b) | A=
B =
Marks (2.0)
(T06.3c) | A =
Iy =
Total:

End of Summary Answersheet
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| ‘ Answersheet
gth » FRONT Q. No. TO7 Page No. SA-13
l Final answers l
Marks (3.0)
(TO?l) Racc km
Marks (3.0)
(T072) Macc = M@ yI‘_l
Marks (6.0)
(107.3) | f(tan 5, q) =
Marks (1.0)
(T07.4a) Peg, mag =
Marks (7.0)
(T07.4b) By, =
Value of By . ~ T
Total:

End of Summary Answersheet
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Summary

D - Contestant Code —
‘ Answersheet
8th » e . FRONT Q. No. TOS8 Page No. SA-15
l Final answers l
Marks (4.0)
(T08.1) Tph =
bpn =
Marks (2.0)
(T08.2) Tph = S
Marks (2.0)
(T0833) Ta =
rg =
Marks (3.0)
(T08.3b) | re =
bmin =
Marks (5.0)
(T084) Touter = au
Tinner = au
Marks (2.0)
(TO8.5a) A B C D
Marks (2.0)
(Tos.5b) | A B C D
Total:

End of Summary Answersheet
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Summary

9 - Contestant Code -
| ‘ Answersheet
gth » FRONT Q. No. TO09 Page No. SA-17
l Final answers l
Marks (1.0)
(T09.1) dimage =
Marks (2.0)
(T09.2a)
Marks (2.0)
(T09.2b) | a=
Marks (3.0)
(T09.2¢c) | Azy = m
Marks (3.0)
(T09.2d) | Az, = m
Marks (2.0)
(T09.3) A B C
D E F




Summary

-] - Contestant Code —
‘ Answersheet
8" ¥ ‘- BACK Q. No.| T09 | Page No. SA-18
l Final answers l
Marks (4.0)
(T09.4a) Light rays
n2
ni
Marks (3.0)
(T09.4b) | wx =
Marks (4.0)
(T09.4¢) | Dyax =
Y. Marks (6.0)
(T09.5) ;
R
Marks (5.0)
(T09.6) | tmax =

Total:

End of Summary Answersheet
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D - Contestant Code —
| ‘ Answersheet
8th » e FRONT Q. No. T10 Page No. SA-19
l Final answers l
Marks (4.0)
<T101) Xn, wk =
Marks (2.0)
(T10.2a) | 5=
Marks (2.0)
(T10.2b) A B C D
Marks (5.0)
T10.3
( a) "
101,
x
E 10"
107!
1072 ; ‘ : ; ‘ |
58 60 62 64 66 68 70 72
kT [keV]
Marks (1.0)
(T10.3b) kThue = keV
Marks (4.0)
(T10.3¢) | tuue = s
Marks (5.0)
(T104) Xn, nuc —




Summal‘y Contestant Code

] - _
| ‘ Answersheet
8th » BACK Q. No. T10 Page No. SA-20
Final answers
' }
Marks (3.0)
<T105) Yprim =
Marks (2.0)
(T10.6a)
0.250 A
0.248 # + % iﬁ +
0.246 {) %+ %ﬁ +%+ %} % +
0.244 + + +%) +
""""" L L .
50 x 10~ 100 x 10~ 150 x 106 200 x 107
(O/H)
Y =
Marks (2.0)
(T10.6b) dY/d(O/H) =
Marks (2.0)
(T10.6c) | Yiobs =
Marks (3.0)
(T10.7) Ui + Np/Nyn(T) Toue (Np = Ny)
tnuc *Xrn7 nuc Yprim
Total:

End of Summary Answersheet
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D - Contestant Code —
‘ Answersheet
8th » FRONT Q. No. T11 Page No. SA-21
l Final answers l
Marks (6.0)
(T11.1a) T(r) I(r) €nuc(r) X(r) Y (r)
Marks (3.0)
(T11.1b) | Y. =
Marks (5.0)
1.0
(T11.1c)
0.9
L, 0.8
g
=07
Z 0.6
o
~ 0.5
IS
E 0.4 1
2 0.3
= c
0.2 1
0.1 B
00 T T T T T T T T T
0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
/R
Marks (1.0)
(T11.2a) tMs =
Marks (1.0)
(T11.2b) | Atye =
Marks (3.0)
(T11.2¢) | fu=
Marks (3.0)
(T11.2d) | Ry =
Marks (4.0)
(T11.2¢) | Rp = Rq =




Summal‘y Contestant Code

3 - _
| ‘ Answersheet
gth » BACK Q. No. T11 Page No. SA-22
l Final answers l
Marks (2.0)
(T11.3a) ;Lq _
T
Marks (4.0)
(T11.3b) | o(z) =
Marks (6.0)
(T11.3¢c) | ¢(x) =
Marks (8.0)
(T11.3d) | 4= B =
q(x) =
Marks (4.0)
(T11.3e)
0.2 1
0.1+
0 .
0 0.1 0.2
r/R
Total:

End of Summary Answersheet
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-] - Contestant Code —
‘ Answersheet
gth » FRONT Q. No. T12 Page No. SA-23
l Final answers l
Marks (4.0)
(T12.1a) | k=
Marks (4.0)
(T12.1b) | Tpw =
Rsc 100 =
Ton, 100 =
Marks (8.0)
(T12.1¢) | PMn(®) _
dt
My, (t) =
Mpn (t)
> 1
(0,0)
Marks (3.0)
(T12.1d) | ™h =
Thh, 100 =




Summary

9 z Contestant Code —
| ‘ Answersheet
gth » BACK Q. No. T12 Page No. SA-24
l Final answers l
(TlZ.le) Marks (6.0)
I 11 11T IAY Vv VI
X
Y
Z
Marks (4.0)
<T1223) MO,PBH =
Rsc, pH = m
TppH =
Marks (6.0)
(T12.2b) | t20 =
Marks (5.0)
(T12'2C) /\earth =
Marks (10.0)
(T12.2d) | Mg =
Ménin —
Total:

End of Summary Answersheet




